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QL. Fillin the blanks with the correct answers: [5]
1. Asia together with Europe is often referred to as .
2. The Mesopotamian plain in” , lies between the river
and :

3. The is the most common domesticated animal of Tibet.

4. is the chief meang of livelihood in Asia.

5. Aluminum is extracted from )

6. The Royal Bengal tiger is mainly found in the s

7. The Plateau of Tibet is located between the and the

8. India has a climate.
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State whether the following statement are true or false. If false rewrite the
correct statement. [5]

2

Mumbai and Chennai experience extremes of temperature condition.
Sundries’ is the most common trees in the tidal forest.

The Taiga type of climate is found in Japan.

Plantations agriculture is a highly specialized form of commercial agriculture.
Afghanistan is land locked country.

Convectional rainfall occurs almost daily around 4o’clock in the Equatorial
regions of Asia.

The Indian government has set up primary health centers only in main cities
to provide health care.

Name the following .Write only the answers. [10]

The highest mountain peak in Asia.

The largest country in Asia.

The deepest sea in Asia.

The deepest lake in Asia

The coldest place in Asia.

The world’s longest railway line

The two major imports of Asia.

The two most populated countries of Asia.
Any two products obtained from soft wood.

10.Any two states in India where the one horn rhinoceros are found.
11. The moisture laden winds that bring rain to India.
12.The national bird of India.



13.The two countries where the Thar Desert extends.

14.Any two hard wood trees.

/QH(B With reference to the climate region in column A. Match column B and
column C with it. Rewrite the complete statement.

V. ADefine the following terms:

i
2.

[5]

COLUNMN A
Climate Region

COLUMN B
Vegetation

COLUMN C
Wildlife

1.Tropical monsoon

a. short grasses and low
bushes.

i. reindeer; foxes; seals

2 Hot Desert b. mosses and lichens ii. big cats
3. China type c. Teal; Sal; Shisham iii. camel; horse; mules
4. Arctic d. Oak; chestnut; fir iv. Antelope; two

humped Bactrian camel

5. Temperate Grassland

e. Thorny bushes; cacti

v. peacocks; pheasant

Inter-montane Plateau
Nomadic herding

3 Aquaculture
4. Loo

[3]

QIV. B Distinguish between. State two points of difference for each. Draw 3

BGoRo =

QV.

—

QVI.

S A

columns.

Cash cfops and Food crops.

The Hot Dry Season and The Cool Dry Season.
Mediterranean Climate and Temperate Climate.
Tropical Deciduous trees and Coniferous trees.

Answer the following questions:

. What is archipelago? Give an example.

Where does the Yunnan Plateau lie?
The climate of Asia is influenced by a number of factors. Discuss how the
distance from the sea influences the climate.

List any four characteristics of agriculture in Asia.
Mention the water bodies and landforms which border Asia. [2]
How has modernization changed the vegetation of the Mediterranean

region.

8]

(1]
2]

2]
[2]

[3]

What are the factors that influence the distribution of population of a place? [3]

Give Geographical reasons for the following:

The transport system of Asia is not well developed.
Most parts of Asia do not get rainfall during the winter season. [3]
The Siberian plain has marshes and swamps.

Asia is often referred to as a ‘Continent of Contrasts.’

[3]

[3]
[3]
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QVII.A On the given outline map of Asia mark and label the following:
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Countries
Afghanistan
Iran

China
Nepal.
Qatar

Capitals
Moscow

New Delhi
Singapore
Dhaka
Jakarta

Water bodies
Indian Ocean
Pacific Ocean
Arctic Ocean
Sea of Japan
South China Sea
Arabian Sea

Mountain and Plateaus

Plateau of Anatolia
Pamir Knot
Arabian Plateau
Deccan plateau

. B On the given outline map of India mark and label the following:

. States with their capitals

a. West Bengal
Tamil Nadu
Assam

. Madhya Pradesh
Lakshadweep
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